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  XZVM9VB 

   I, 2013 

SUMMATIVE ASSESSMENT – I, 2013 

 / SCIENCE   

X / Class – X  

 3      90 

Time allowed : 3 hours     Maximum Marks : 90 

  

The question paper comprises of two Sections, A and B. You are to attempt both the sections. 

All questions are compulsory. 
 

All questions of Section-A and all questions of Section-B are to be attempted separately. 
 

1 3 

Question numbers 1 to 3 in Section-A are one mark questions.  These are to be answered in 
one word or in one sentence. 
 

4 7 30-30 

Question numbers 4 to 7 in Sections-A are two marks questions.  These are to be answered in 
about 30 words each. 
 

8  19 50-50   

Question numbers 8 to 19 in Section-A are three marks questions.  These are to be answered 
in about 50 words each. 
 

20 24 70-70 

Question numbers 20 to 24 in Section-A are five marks questions.  These are to be answered 
in about 70 words each. 
 

25 42 

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical 
skills.  Each question is a one mark question.  You are to select one most appropriate response 
out of the four provided to you.
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   SECTION-A 

 

 

 1 

 

State the direction of magnetic field in the following case- 

 
 

1 

 2  

What is the role of fine hairs and mucus in nostrils ? 

 

1 

 3  

Name any two elements that are used in fabricating solar cells.  
 

1 

 4 

 

When lead nitrate solution and potassium iodide solution are mixed together, we get lead 

iodide and potassium nitrate solution. Write balanced chemical equation for the reaction 

involved. 

 

2 

 5 

 

Name two metals which can be melted when kept on palm ?  Give reason the of melting of 

these metals. 

 

2 

 6 

 

Name a  device that you can use to maintain a potential difference between the ends of a 
conductor.  Explain the process by which this device does so. 

2 
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 7 

 

Mention and explain the function of an earth wire ?  Why it is necessary for earth metallic 

appliances ? 

 

2 

 8  

(i)  

(ii) HCl  

(iii) NaOH  

To a solution of sodium hydroxide in a test tube two drops of phenolphthalein are added. 

(i) State the colour change observed. 

(ii) If dil HCl is added drop wise to the solution, what will be the colour change? 

(iii) On adding few drops of NaOH solution to the above mixture the colour of the solution 

reappears. Why? 

 

3 

 9  

Write the rules for writing a word equation for a chemical reaction .Give one example. 

 

3 

 10 

(i) Al + HCl  →  

(ii) NaCl (aq)  →    

(ii) Mg + HNO3 →  

Complete the following equation with balancing : 

(i) Al + HCl  →  

(ii) NaCl (aq)  →    

(ii) Mg + HNO3 →   

 

3 

 11 HCl 

 

(i) HCl  

3 
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(ii)  

(iii) HCl  

Sugandha prepares HCl gas in her school laboratory using certain chemicals. She puts both 
dry and wet blue litmus papers in contact with the gas. 
(i) Name the reagents used by Sugandha to prepare HCl gas. 
(ii) State the colour changes observed with the dry and wet blue litmus paper. 
(iii) Show the formation of ions when HCl gas combines mith water. 

 

 12 16

   

A wire has a resistance of 16.  It is melted and drawn into a wire of half its original length.  

Calculate the resistance of the new wire.  What is the percentage change in its resistance ? 

 

3 

 13 (a)  

(b) 

 

(a) What is meant by a magnetic field ? Mention two parameters that are necessary to 

describe it completely. 

(b) If field lines of a magnetic field are crossed at a point, what does it indicate ?   

 

3 

 14 

Two identical resistors are first connected in series and then in parallel.  Find the ratio of 
equivalent resistance in two cases.  
 

3 

 15  

‘Brain and Spinal Cord are two vital organs of our body’.  How is our body designed to 
protect them ? 
 

3 

 16 

 

(i)  

(ii)  

(iii)  

A gland secretes a particular hormone. The deficiency of this hormone in the body causes a 
particular disease in which the blood sugar level rises. 
(i) Name the gland and the hormone secreted by it. 
(ii) Mention the role played by this hormone. 

3 
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(iii) Name the disease caused due to deficiency of this hormone. 
 

 17 (a)  

(b)  

(c)  

(a) Which component of grass is difficult to breakdown ? 

(b) How exit of waste material is regulated in large intestine ? 

(c) Which secretions are released in initial part of small intestine ? 

 

3 

 18  

Explain with the help of labelled diagram the process of production of biogas in a biogas 

plant. 

 

3 

 19 

(a) 

(b) 

   

There was a poster making competition in a school on a topic ‘SAVE ENERGY’.  The students 

were also asked to give write ups on this topic. 

A student of the school is unable to make the write up on ‘SAVE ENERGY’. 

(a) Suggest him two steps to ‘SAVE ENERGY ? 

(b) Mention the value which the school is trying to give its students by  holding 

such a competition. 

 

3 

 20 (a) A, B  C pH 6, 2  9 

A 

5 

JSunil Tutorial



 

Page 6 of 15 

(b)  

(c)  

(a) You have three solutions - A, B, and C having a pH of 6, 2 and 9 respectively.  Arrange 

these solutions in increasing order of hydrogen ion concentration.  Which of the three 

is most acidic ? What happens to the hydrogen ion concentration in A as it is diluted ? 

(b) If someone is suffering from a stomach problem called acidity, why is a solution of 

baking soda offered as  a remedy ? 

(c) Write chemical name and formula of baking soda. 

 

 21 (a) 

(b)  

(a) Metals like iron, silver and copper get corroded on exposure to air.  Write the chemical 

name of the substance deposited on their surface respectively with it’s colour, in each 

case. 

(b) List four ways by which rusting can be prevented.   
 

5 

 22 (i) 1  (1kWh) 

 

(ii) 5V;500 mA

 

(i) State one difference between kilowatt and kilowatt hour.  Express 1 kWh in joules. 

(ii) A bulb is rated 5V ; 500 mA.  Calculate the rated power and resistance of the bulb 

when it glows. 

 

5 

 23 2 V  5  10 

  15

 15

 

(i)  

(ii) 5 

Draw a circuit diagram for a circuit consisting of a battery of five cells of 2 volts each, a 5 
resistor, a 10 resistor and a 15 resistor, an ammeter and a plug key; all connected in series.  
Also connect a voltmeter to record the potential difference across the 15 resistor and 
calculate : 
(i) the electric current passing through the above circuit and  
(ii) potential difference across 5  resistor when the key is closed. 

5 
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 24 (a)  

(b)  

(a) How does transpiration help in upward movement of water from roots to leaves ? 

(b) What is translocation? Why is it essential for plants? 

 

5 

   / SECTION - B 

 

 

 25 HCl 

 

(a)  (b)  

(c)  (d)  

A student performed reaction between dil. HCl and zinc granules and noted the properties of 

evolved hydrogen.  Correct observations would be that hydrogen is : 

(a) colourless and odourless (b) lighter than air 

(c) almost insoluble in water (d) all the above properties 

 

1 

 26  

(a)   (b) (c)   (d)  

In which form zinc metal is used from laboratory to  prepare hydrogen ? 

(a) Rod  (b) Powder (c) Filing  (d) Granules 

 

1 

 27  

Zn(s)CuSO4(aq)  ZnSO4(aq)Cu(s) 

(a)   (b)   

(c) (d)   

The reaction given below is : 

Zn(s)CuSO4(aq)  ZnSO4(aq)Cu(s) 
(a) displacement reaction  (b) combination reaction   
(c) double displacement   (d) decomposition reaction   
 

1 

 28 1 
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(a) 

(b) 

(c) 

(d) 

Nandu wants to carry out a displacement reaction in the laboratory.  The correct set of 

chemicals he should choose is : 

(a) Iron sulphide, distilled water, a pieces of copper metal 

(b) Copper sulphate, iron nail, distilled water 

(c) Ferrous sulphate, distilled water, copper metal 

(d) Copper sulphate, distilled water, copper metal 

 

 29 

 : 

(a)  

(b)  

(c)  

(d)  

When water is added to a test tube containing some quick lime, a white substance is formed.  
The aqueous solution of this substance is chemically : 
(a) lime water 
(b) carboxylic acid 
(c) calcium carbonate 
(d) calcium hydroxide 
 

 

1 

 30  MBX → MXB  B M  BX  

(a)  

(b)  

(c)  

(d)  

If M  BX → MX  B and B is seen as reddish brown deposit, then M and BX respectively are 
: 
(a) Iron and aluminium sulphate 

1 
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(b) Iron and zinc sulphate 

(c) aluminimum and copper sulphate 
(d) Zinc and Iron aluminimum  sulphate 
 

 31   

(i)   

(ii)   

(iii)   

(iv)   

(a) (i)  (ii)   (b) (i)  (iii) 

(c) (ii)  (iii)   (d) (i)  (iv) 

When zinc granules are added to the copper sulphate solution, which of the observations will 

not be made ? 

(i) A blackish deposit is seen on zinc. 

(ii) Blue solution becomes colourless. 

(iii) Reddish brown deposit is seen on zinc. 

(iv) Colourless solution changes to pale green. 

(a) (i) and (ii)   (b) (i) and (iii) 

(c) (ii) and (iii)   (d) (i) and (iv) 

 

1 

 32  1 
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(a) I   
(b) II   
(c) III   
(d) IV 
 
 
 
 
 
 
Out of the following circuits the correct ammeter reading is shown in : 

 
(a) I  (b) II  (c) III  (d) IV 
 

 33 1 
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(a) (b) (c) (d) 

If a wire is stretched to make its length three times the original length its resistance will 

become:

(a) Three times (b) One-third (c) Nine times (d) One-tenth 

 

 34 R1 R2 

 

(a) V I

(b) I V

(c) I V

(d) I V

In an experiment to find the equivalent resistance of a series combination of two resistors R1 

and R2 student uses the circuit shown here.  

The circuit will give (a) correct reading for voltage V, but incorrect reading for current I. 

(b) correct reading for current I, but incorrect reading for voltage V. 

1 
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(c) correct reading for both current I and voltage V. 

(d) incorrect reading for both current I and voltage V. 

 

 35 A, B  C 

 

 
 

(a) A  B   (b) B  C   

(c) C  A   (d) 

While doing the experiment, on finding the equivalent resistance of two resistors connected in 
series, three students A, B and C set up their circuits as below : 

 
The correct set up is that of : 
(a) A and B  (b) B and C  
(c) C and A  (d) All the three students   
 

1 

 36 R1 R2 

(a) R1R2/R1+R2

(b) R1+R2

(c) R1xR2

(d) R1/R2

Two wires of resistance R1 and R2 are joined in parallel. The equivalent resistance of the 

combination is— 

(a) R1R2/R1+R2

(b) R1+R2

1 
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(c) R1xR2

(d) R1/R2

 

 

 37 

?

(a) (b) 

(c) (d) (a), (b)  (c)

If the leaves of green plant are coated with wax or Vaseline, which of the following processes 

will be affected: 

(a) Photosynthesis.   (b) Transpiration and ascent of sap. 

(c) Respiration    (d) (a), (b) and (c) 

 

1 

 38  

(a)  

(b)  

(c)  

(d) 

While preparing temporary mount of leaf peel to observe stomata, Glycerine is added to :  
(a) allow entry of air bubbles (b) keep the tissues wet   
(c) give colour to the tissue (d) make the mount more attractive. 
 

1 

 39 

(a) 

(b) 

(c) 

(d) 

In the experiment to show that ‘light is necessary for photosynthesis’, if the plant leaf is not 

1 
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destarched, then its covered as well as uncovered part show blue colour in iodine test. The 

reason for the observation is that : 

(a) Leaf has no starch left   

(b) Leaf has starch left from photosynthesis occurred earlier 

(c) Leaf is only respiring  

(d) Leaf is dead 

 

 40 

24 

(a) 

(b) 

(c) 

(d) 

The best results for the experiment, that light is necessary for photosynthesis, would be 

yielded by using leaves from plant kept for over twenty four hours : 

(a) In a pitch darkroom  

(b) In a darkroom with the table lamp switched on 

(c) Outside in the garden 

(d) Outside in the garden, covered by a glass case 

 

1 

 41 CO2

 

(A)   

(B)   

(C) KOH  

(D)  

(a) A  B   (b) B  C  

(c) A  C   (d) A B  C 

1 
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Which of the following precautions are to be taken for a successful run of the experiment ―to 
show that CO2 is given out during respiration ―.  
(A) Cork should be air tight  
(B) Seeds in the flask should be totally dry  
(C) A small tube with freshly prepared KOH solution should be placed in the flask 
(D) The end of the delivery tube should be above water level 
The correct answer is :  
(a) A and B   (b) B  and C  
(c) A and C   (d) A, B and C 
 

 42 CO2 

(a) V – (b) U – 

(c) S – (d) Z - 

The delivery tube used in the experiment to show that CO2 is given out during respiration 

should be: 

(a) V – Shaped   (b) U – Shaped  

(c) S – Shaped   (d) Z – Shaped 

 

1 

    

  ***** 
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